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	Location contrast
	Test statistic
	P value
	Effect size
	Bayes factor

	Distractor
	HPDL vs NL-near
	t(27) = -0.20
	p = 0.847
	d = -0.04
	BF10 = 0.20 

	
	HPDL vs NL-far
	W = 94
	p = 0.012
	r = -0.54
	BF10 = 5.99

	
	NL-near vs NL-far
	W = 310
	p = 0.014
	r = -0.53
	BF10 = 4.00

	Target
	HPDL vs NL-near
	W = 162
	p = 0.362
	r = -0.20
	BF10 = 0.35

	
	HPDL vs NL-far
	W = 57
	p < 0.001
	r = -0.72
	BF10 = 41.78

	
	NL-near vs NL-far
	W = 327
	p = 0.004
	r = -0.61
	BF10 = 6.27

	Neutral
	HPDL vs NL-near
	t(27) = -0.39
	p = 0.696
	d = -0.08
	BF10 = 0.22

	
	HPDL vs NL-far
	t(27) = -2.99
	p = 0.006
	d = -0.57
	BF10 = 7.26

	
	NL-near vs NL-far
	W = 302
	p = 0.023
	r = -0.49

	BF10 = 1.90
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